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Question 3
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@ [ sGryde=["flx)de+ | f(x)de V[ S )yde= [ () de+ [ f(x) dr
_ (7 97 314, .3
:>7—J._6f(x)dx+2+(9—7) 1-_[_2f(x)dx
-2 _ O\ _ 97 1 : answer
= L6f(x)dx_7—(11—7)_ -4
(b) LS(Zf (x) +4) dx = 2J‘35 J'(x) dx + Jj4 dx 5. { 1 : Fundamental Theorem of Calculus
=2(f(5) - f(3)) + 4(5-3) 1 : answer
= 2(0-(3-5)) +8
=2(-3+V5)+8=2+2V5
— OR —
[[@re+ 4y a=[2/(x) + 4153
=(2/(5) +20) - (2/(3) +12)
=(2:0+20)-(2(3-+5)+12)
=2+2V5
: 1 ,
© g =/(x)=0=x=-Lx=5,x=5 1:g'(x) = f(x)
X g(x) 3.4 1:identifies x = —1 as a candidate
) 0 1 : answer with justification
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On the interval -2 < x < 5, the absolute maximum value
of g is g(5) = 11- L.
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